Code No. 5661
RoOlINoO. ...ccovvviiiiiiiannn. SET : A

D. El. Ed. 2" Year Exam., July — 2022
Pedagogy of Sanskrit Language
GEpeT AT 1 e
(Course Code : DE-211)

(Only for Fresh/Re-appear Candidates)

[ Evening Session ]

Time : 2 Hours ]| [ Max. Marks : 35
7T : 2 gue | [ siferaas s7% - 35
AT 39T -

(i) Y T BT @ 5 59 FoF G § FRT 5 7 T F97 6 &1

(i) gorga H afed & & G BT ¥ e T_C T G #H OFH FI-YRaE &
FET-g%3 q7 e

(iii) FYI1 97 T T [rG @ #77 @ Y&, J97 F HHFH Ha9T [

(iv) FTC-Gierenl & i 4 @l G719~ 7 88/

(v) FTC-GRawr % GfaRkFT g o dic T Aam gT FeEmEagarR & @ v
fer@r G T #Ie)

(vi) ghereff s7T O To FIT-UF GT 3FIT [y

(vii) BT F977 & FTY 37 § g7 GERGT F T [ Fe7-07 [T T @& &, qer B I 59
T F 25 arar @H T A A
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1. Ay 99y FFF 99 e HE - 2x3=6

(%) HEaEREE: Tew YeuE Y TRy e Sewd MeRaal
(@) fafrREmE: JENY o omhd GEad WYY T e fore
(M) OTCdSHE: Wew YesiE TedSHE: WEY S qdl

2. HHiREdy g4 99T g% 99T qEed: - 1x3=3

(%) ‘g A TR A T qUE HaY S YTy Sl aed|

(@) =BG FAATET B AR qAd ¢ I Ha: & e ?

3. FAGRIAY g4 9T g U qEEE: — 1x3=3

(%) TeaieTE @Ed T T AN e O
(@) oTesMETEE FETE HH-HN QO a2

4. FARRIAY E4: G g U qHEE: - 1x3=3
(%) oA HISPEE: ? qedeEEn: [GREY SRy S 9l

(@) wgenfiwer R ? geAlmrm ofeE a9 RerHRErE 9w a9 el

5. T U 99N — 1x5=5
(B) BTN Iqaed AT AGAAHNIECTE [ IUR Sepret are|
(@) o=a: e geeq B=d: 9 o Heal
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6. TERTOHITF I ;M — 15x1=15

(iii) ST
(iv) @y

(M) S Fia wRET T ?
(i) g
(i) &«
(iti) 9T

(iv) ¥q
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(i) SrHEE:
(i) g
(iii) FPHIRS:
(iv) e
() ‘o=’ (8) oM FRFY B WAt ?
(i) Ty
(i) =S
(iii) SU=GST
(iv) emRT
(@) “aeers) o=l O gTTasd @Y AT HATE© AR ?
() T
(i) i
(iii) SToTEH
(iv) e
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(8) a1 7a7 f& gy TwTHAT

STRIETHIHE TeIHT AT 1
- T¥: Solich: HEATG T SISk ?

() FEEAa
(i) e

(iii) TR
(iv) wera:

() s<rEfed FEA -

(i) T
(iti) THRCT
(iv) WerHRaq

(30) ‘orer=ARY S @R HISRT ?
(i) i
(i) epricrETE:
(iti) e
(iv) FoT
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(i) M@
(iii) T
(iv) SIFE
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(ii) yAFTAT:
(iil) EEIRTATY:
(iv) SR
(3) ‘ofER’ o= % wwEl wafa ?
(i) dgem
(i) sghfe:
(iii) FHHER:
(iv) SfedvE:
(1) = gEvere: gE: % G Safd ?
(i) wgde:
(i) Tcgew:
(iii) STIHHE:

(iv) gragq™:
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